= (U
A
3

©®©

@
oe

ST - S

IN120LB SOCKET

57 69

= pat:
]
R -

T — 1 —— (r——F—

62) (88 189 (21 (74 (84) (35 (920 (37 (7 (8) (9 (41 42 43 (67 (29

1 SP-1_(IN) Handle Button 1
2 SP-2 (IN) The up cover of handle 1
3 SP-3 (IN) Bulkhead 8
4 SP-4 (IN) The down cover of handle 1
5 SP-5 (IN) U Bracket 1
6 SP-6 (IN) Body( front+ back) 1
7 SP-7 (IN) Battery case 1
8 SP-8 (IN) Waterproof cover for Battery 1
9 SP-9 (IN) Base 1
10 SP-10 (IN) Cover for Battery 1
SP-10 (LB) Cover(for battery) (Fixed screw holes 3) 1
11 SP-11 (IN) Top cover 1
12 SP-12 (IN) The bottom of lens 1
13 SP-13 (IN) Clear lens(with 16 pcs screws holes) 1
14 SP-14 (IN) Bracket for Mainboard 1
15 SP-15 (IN) Bracket for Mainboard 2
16 SP-16 (IN) Cover for Extension (Left&Right) 1
17 SP-17_(IN) Box for charger 1
18 SP-18 (IN) Clip 2
19 SP-19 (IN) Fixed sheet for top Extension 2
20 SP-20 (IN) Screw cover 4
21 SP-21 (IN) Battery level indicator cover 1
22 SP-22 (IN) Rotary screw sheet 2
23 SP-23 (IN) fixed screw sheet 2
24 SP-24 (IN) Extension screw cover 2
25 SP-25 (IN) Bar for 3 Extension 2
26 SP-26 (IN) Gasket for LED board 20
27 SP-27 (IN) Plastic base angle nut 4
28 SP-28 (IN) LED Reflector 2
29 SP-29 (IN) Anticollision reinforcement 1
30 SP-30 (IN) M4 Nut 2
31 SP-31 (IN) M5 Nut 6
32 SP-32 (IN) M4*14 Screw 2
33 SP-33 (IN) M3*14 Screw 2
34 SP-34 (IN) M3*8 screw 14
35 SP-35 (IN) ®3*10 pan-head screws 18
36 SP-36 (IN) M5*10 Screw 6
37 SP-37 (IN) M6*30 Screw 4
38 SP-38 (IN) ®3*10 Screw 8
39 SP-39 (IN) ®3*6 Screw 4
40 SP-40 (IN) ®3*8 Screw 28
41 SP41_(IN) M5*12 Screw 2
42 SP-42 (IN) ®5 Pads 2
43 SP-43 (IN) M5 flange nuts(battery connection) 2
44 SP-44 (IN) M4*28 Screw 2
45 SP-45 (IN) M4 Nut fixed 2
46 SP-46 (IN) M3*10 Screw 1
47 SP-47 (IN) M3 Nut 1
48 SP-48 (LB) screw ®3*14 3
49 SP-49 (IN) Socket fixed iron 2
50 SP-50 (IN) Cable Gland PG9 1
51 SP-51 (IN) Spring 1
52 SP-52 (IN) 3 Extension 2
53 SP-53 (IN) Ejector Rod 2
54 SP-54 (IN) LED Sleeve 2
55 SP-55 (IN) Socket waterproof Cushion 2
56 SP-56 (IN) ®3 Chains fixed waterproof Cushion 2
57 SP-57 (IN) Plug 2
58 SP-58 (IN) Socket(for charge) 1
- SP-58 (LB) Socket(for charge) (Fixed screw holes 3) 1
59 SP-59 (IN) Socket(on the buttom cover of lamp head) 1
60 SP-60 (IN) Socket cover 1
61 SP-61 (IN) Function Switch 1
62 SP-62 (IN) Battery level Switch 1
63 SP-63 (IN) Main Switch 1
64 SP-64 (IN) 36 LED mainboard 8
65 SP-65 (IN) Mainboard 1
66 SP-66 (IN) Ballast 2
67 SP-67 (IN) 10AH Batte ry 1
o / SP-67 (LB) 18AH Battery 1
638 SP-68 (IN) DC-DC Car Charger(12v-24v) 1
69 SP-69 (IN) AC-DC Chargers (Input: AC100-240V, 50/60Hz, Max. 1.2A; Output: DC12V,2000mA) 1
T SP-69 (LB) AC-DC Chargers (Input: AC100-240V, 50/60Hz, Max. 1.5A; Output: DC12V,2500mA) 1
70 SP-70 (IN) Power Line(110v-240v) 1
7 SP-71 (IN) Sprial cable 1
12 SP-72 (IN) Fuse plastic cap 1
73 SP-73 (IN) 5A Fuse 1
74 SP-74 (IN) Power Test Board 1
75 SP-75 (IN) Before connecting the constant-current Device (10CM) 1
76 SP-76 (IN) Back connecting the constant-current Device (24CM) 1
77 SP-77 _(IN) Before LED indicator (15CM) 1
78 SP-78 (IN) Back LED Indicator (25CM) 1
79 SP-79 (IN) Top cover sealing article Foam (®2MM*0.65M ) 1
SP-79 (IN) Bottom of lens sealing article Foam (®2MM*0.65M ) 1
80 SP-80 (IN) The battery box sealing article foam 1
81 SP-81 (IN) Protective film (18.5*22.5CM) 2
82 SP-82 (IN) M3*6 Screw 12
383 SP-83 (IN) ® 3 Red MianDian 12
84 SP-84 (IN) ®3*6 Screw 2
85 SP-85 (IN) ®3*8 Screw 4
36 SP-86 (IN) ®16 Shrapnel 2
87 SP-87 (IN) M16 fixed Nut 2
88 SP-88 (IN) ®13 Sealing Ring 2
89 SP-89 (IN) M12 Fixed Nut 2
90 SP-90 (IN) Fuse plastic cap (male) 1
91 SP-91 (IN) Fuse plastic cap (female) 1
92 SP-92 (IN) Breathable Film 1
93 SP-93 (IN) Self recovery fuse (GR16 800) 1
check
EXIN LIGHT Explosion figure
technics IN120L / IN120LB




